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RIFENEITH 310 348 658 267
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18[IULDFEITH 199 214 413 183
9@ W o F & 276 297 573 240
0| KARIEITE 145 171 316 136
200l KARE2TH 344 374 718 297
2|KXARIEITE 321 339 660 273
BIAARFITHE 208 270 478 260
U KARF2TH 351 398 749 294
25| KARHPITH 210 224 434 171
26| KARFA4TH 120 137 257 113
2|IKARHSTEH 184 177 361 133
2K A R @A 251 261 512 232
9| XKAREITH 468 511 979 352
X ARE2TH 217 198 415 163
SIXKAREITH 129 155 284 163
RAKXKAREATH 516 505 1,021 403
BAARESTH 148 154 302 140
4% B 1 T H 233 257 490 178
(% B 2 T H 288 304 592 232
36/8 B 3 T H 261 301 562 264
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Bl E 1 T H 180 201 381 142
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52 KARE2TH 96 105 201 99
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54l A M B2 TH 189 193 382 159
55| M 3T H 293 305 598 239
56| A 4T H 222 223 445 169
5712 MM ® 1 T H 146 144 290 108
58| A M 2T H 151 161 312 119
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59| PR R 3T H 454 486 940 402
60[E IR 4TH 74 86 160 61
61| b 365 505 870 435
62| kil 38 228 268 496 193
63[XREE1TEH 247 269 516 220
64X BEE2TH 382 407 789 326
65|18 X A1 T H 11 2 13 13
66 K B\E2T B 20 6 26 20
67(BA K w3 T B 238 194 432 189
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69 K 1 T H 100 93 193 88
WOEEAKER2TH 230 226 456 185
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RIEAKELITH 237 235 472 218
730 B 1 T B 18 25 43 17
740 B 2 T H 90 101 191 64
75(%0 ® 3 T H 45 60 105 37
76lf1 B 4 T H 10 9 19 7
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19[oIFEAREIL2TH 351 366 717 240
80[DIFEAREIITH 236 230 466 144
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84| oIFEAEFE2TH 439 447 886 270
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2K B 4T H 127 77 204 120
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BA B 1T H 100 105 205 75
%A & 2 T H 115 104 219 87
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